LIGO

OVERALL BILL OF MATERIALS

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

DRWG NO.

E1100011-v1

REV GID

SHEET 10F1

ASSEMBLY NO:

D1002356-04-v1

TITLE:

SLC ARM CAVITY BAFFLE 1 HOLE LEFT NO QPD BOX ASSY

APPROVALS:

DATE:

REV DCN NO. BY CHECK DCC

DRAWN / AUTHOR:

(REFERENCE CONTENTS)

CIT, CC

CHECKED:

6-Dec-11

APPROVED:

DCC RELEASE

vl [E1000868 NN

DATE

ITEM NO | REQ. |SPARE

TOT.

PART NUMBER

REVISION

DESCRIPTION

MATERIAL

1 | 1] 0| 1]|D1002357-04] w1 ARM CAVITY BAFFLE 1 HOLE LEFT NO QPD SKIN E”aTme' 'I“424
ype

2 | 1]10] 1| D1000974 vi ARM CAVITY BAFFLE TOP SKIN E”a:‘e' '°|\424
vbhe

3 | 1|01 D1000975 vi ARM CAVITY BAFFLE BTM SKIN E”aTme' A|424
vbhe

4 | 1]0]| 1| D1000976 vi ARM CAVITY BAFFLE CTR SKIN E”aTme' '°|‘424
vbhe

5 | 2|1]|3]| Dioo1363 vi ACB SIDE REINFORCING HATSECTION E”a;“e' A|424
vbhe

6 | 3| 2|5 92210a236 _ FLAT HD SHCS #10-24 X.25, MCMASTER 18-8 SSTL

7 | 75| 37 [112| 92196A537 _ SCREW, SOCKET HEAD CAP, 1/4-20 300 SSTL

UNC-2A X 0.5 LONG. MCMASTER

8 |15 7 [22| N-1024-A _ HEX NUT, #10-24, UC COMP Ag 18-8 SSTL

9 | 75|37 |112] N-2520-A . HEX NUT, 1/4-20, UC COMP Ag 18-8 SSTL

10 | 1|0 1| D10o01027 vi ARM CAVITY BAFFLE LOWER LEAF E“aTme' ‘;*424
ype

11 [ 1] o |1]| D1001026 v1 ARM CAVITY BAFFLE UP LEAF Enamel A424

Tvoe |
12 |225]112(337| 90313A204 _ WASHER, FLAT, 1/4, MCMASTER) 18-8 SSTL
131210l 2]| piooi3es ) ARM BAFFLE MIDDLE REINFORCING Enamel A424
PLATE Tvpe |
14 |12 6 [ 18| 92210A999 _ FLAT HD SHCS #10-24 UNDERCUT 18-8 SSTL
15 [ 30| 15 [ 45 | 90313A200 _ WASHER, FLAT, #10 , MCMASTER 18-8 SSTL

SHEET 1 0OF 1

1/5/2011 9:31 AM


https://dcc.ligo.org/DocDB/0015/D1002356/001/D1002356_AdLIGO_AOS_SLC ARM Cavity Baffle 1 hole Box Assy-v1.PDF�

	OVERALL BOM

